

DATE:	5/31/2013					
CONTRACTOR:	VILLAGE OF ORLAND PARK		FAX:			
	14600 W RIVENIA					
	ORLAND PARK, ILLINOIS 60462					
ATTENTION:	FRANK STEC		PHONE:	708-403-6139		
FROM:	DANIEL HENDRICK					
PROJECT	CENTENNIAL POOL SLIDES			CHANGE ORDER R	EQUES	ST # 6
LOCATION:	15600 W WEST AVENUE					
	ORLAND PARK, ILLINOIS 60462					
ARCHITECT:	DATES	WORKED		5/15 - 5/16		
SUBJECT:	CHANGE ORDER REQUEST # 6	LAZY F	RIVER INT	ERIOR OF SLIDES		
DESCRIPTION:	PER PARK AND RECS REQUEST	AND DIRE	ECTION MA	ADISON COATINGS		
	HAS SPENT THE FOLLOWING AD	DITIONAL	TIME ANI	MATERIALS		
	PREP AND PAINTING THE INSIDE	S OF THE	LAZY RIV	ER SLIDES		
	ORIGINAL PROPOSAL WAS BASI	ED OFF SA	AME SCOF	PE AS LAST YEAR		
<u>LABOR</u>						
1 MAN	1 MAN 8HRS	5/15/13	8	HRS @ 81.25	\$	650.00
1 MAN	1 MAN 8HRS	5/16//13	8	HRS @ 81.25	\$	650.00
				LABOR TOTAL	\$	1,300.00
MATERIAL _						
COLOR SHIELD PRIM				ER GALLON	\$	300.00
COLOR SHIELD EXTE	RIOR FINISH 1	GALLON	S @ 300 P	ER GALLON	\$	300.00
				MATERIAL TOTAL	\$	600.00
					\$	1,900.00
				10%	\$	190.00
				TOTALS	\$	2,090.00
			TOTAL AN	OUNT DUE	\$	2,090.00
156	57 S 70TH COURT		ORI AND	PARK, ILLINOIS 6046	2	
198	5. 5.5.77 555KT		CILL IIID	. , , ILLII (OIC 00+0	_	



DATE:	5/31/2013					
CONTRACTOR:	VILLAGE OF ORLAND PARK		FAX:			
	14600 W RIVENIA					
ATTENTION:	ORLAND PARK, ILLINOIS 60462 FRANK STEC		PHONE:	708-403-6139		
FROM:	DANIEL HENDRICK		THOIL.	700-403-0139		
PROJECT	CENTENNIAL POOL SLIDES			CHANGE ORDER R	EQUES	ST # 1
LOCATION:	15600 W WEST AVENUE					
	ORLAND PARK, ILLINOIS 60462					
ARCHITECT:	DATES	WORKED		5/21 - 5/23		
SUBJECT:	CHANGE ORDER REQUEST # 1	T-POC	L INTERIO	OR OF SLIDES		
DESCRIPTION:	PER PARK AND RECS REQUEST	AND DIRE	CTION MA	ADISON COATINGS		
	HAS SPENT THE FOLLOWING AD	DITIONAL	TIME ANI	MATERIALS		
	PREP AND PAINTING THE INSIDE	S OF THE	T-POOL S	SLIDES		
	ORIGINAL PROPOSAL WAS BAS	ED OFF SA	AME SCOP	PE AS LAST YEAR		
<u>LABOR</u>						
1 MAN	1 MAN 8HRS	5/21/13	8	HRS @ 81.25	\$	650.00
1 MAN	1 MAN 8HRS	5/22//13	8	HRS @ 81.25	\$	650.00
1 MAN	1 MAN 8HRS		8	HRS @ 81.25	\$	650.00
1 MAN	1 MAN 8HRS	5/23/13	8	HRS @ 81.25	\$	650.00
				LABOR TOTAL	\$	2,600.00
MATERIAL _						
COLOR SHIELD PRIMI			•	ER GALLON	\$	300.00
COLOR SHIELD EXTE	RIOR FINISH 2	2 GALLON	S @ 300 P	ER GALLON	<u>\$</u>	600.00
			MATERIAL TOTAL	\$	900.00	
					\$	3,500.00
				10%	\$	350.00
				TOTALS	\$	3,850.00
			TOTAL AN	MOUNT DUE	\$	3,850.00
1569	57 S 70TH COURT		ORLAND	PARK, ILLINOIS 6046	2	



DATE:	5/31/2013					
CONTRACTOR:	VILLAGE OF ORLAND PARK	F	AX:			
	14600 W RIVENIA					
	ORLAND PARK, ILLINOIS 60462	_				
ATTENTION:	FRANK STEC	F	PHONE:	708-403-6139		
FROM: PROJECT	DANIEL HENDRICK CENTENNIAL POOL SLIDES			CHANGE ORDER R	FOLIES	T#2
LOCATION:	15600 W WEST AVENUE			CHANGE ONDER IN	LQULU	Ι π Δ
	ORLAND PARK, ILLINOIS 60462					
ARCHITECT:	DATES	WORKED		5/24		
SUBJECT:	CHANGE ORDER REQUEST # 2		T-	POOL STRIPPING		
DESCRIPTION:	PER PARK AND RECS REQUEST	AND DIREC	CTION MA	ADISON COATINGS		
	HAS SPENT THE FOLLOWING AD	DITIONAL	TIME AND	MATERIALS		
	PREP AND STRIPE PAINTING THE	E INTERIOR	S AND E	XTERIOR OF THE T-I	POOL S	LIDES
	ORIGINAL PROPOSAL WAS BASE	D OFF SA	ME SCOP	E AS LAST YEAR		
LABOR						
1 MAN	1 MAN 8HRS	5/24/13	8	HRS @ 81.25	\$	650.00
1 MAN	1 MAN 8HRS	5/24/13	8	HRS @ 81.25	\$	650.00
				LABOR TOTAL	\$	1,300.00
MATERIAL COLOR SHIELD EXT	EDIOD EINIGH 2	CALLONS	@ 200 B	ER GALLON	\$	600.00
COLOR SHILLD LX	ERIOR FINISH	GALLONS	@ 300 F		·	
				MATERIAL TOTAL	\$	600.00
				SUBTOTAL	\$	1,900.00
				10%	\$	190.00
				TOTALS	\$	2,090.00
		7	OTAL AN	OUNT DUE	\$	2,090.00
15	657 S 70TH COURT		ORLAND	PARK, ILLINOIS 6046	2	



DATE:	5/31/2013						
CONTRACTOR:	VILLAGE OF ORLAND PARK		ı	AX:			
	14600 W RIVENIA						
ATTENITION	ORLAND PARK, ILLINOIS 60	462		DUONE	700 400 0400		
ATTENTION: FROM:	FRANK STEC  DANIEL HENDRICK		ı	PHONE:	708-403-6139		
PROJECT	CENTENNIAL POOL SLIDES				CHANGE ORDER R	EQUE	ST # 3
LOCATION:	15600 W WEST AVENUE						
	ORLAND PARK, ILLINOIS 60	462					
ARCHITECT:	DA	TES WO	RKED		5/20 - 5/24		
SUBJECT:	CHANGE ORDER REQUEST	# 3 ZE	RO DE	PTH POOL	INTERIOR OF SLID	ES	
DESCRIPTION:	PER PARK AND RECS REQU	IEST AN	D DIRE	CTION MA	DISON COATINGS		
	HAS SPENT THE FOLLOWIN	G ADDIT	IONAL	TIME AND	MATERIALS		
	PREP AND PAINTING THE IN	SIDES C	F THE	ZERO DEI	TH SLIDES		
	ORIGINAL PROPOSAL WAS	BASED (	OFF SA	ME SCOP	E AS LAST YEAR		
<u>LABOR</u>							
2 MEN	2 MEN 8	HRS 5	/20/13	16	HRS @ 81.25	\$	1,300.00
3 MEN	3 MEN 8	HRS 5/	21//13	24	HRS @ 81.25	\$	1,950.00
4 MEN	4 MEN 8	HRS 5	/22/13	32	HRS @ 81.25	\$	2,600.00
4 MEN	4 MEN 8		/23/13	32	HRS @ 81.25	\$	2,600.00
4 MEN	4 MEN 8	HRS 5	/24/13	32	HRS @ 81.25	\$	2,600.00
					LABOR TOTAL	\$	11,050.00
<u>MATERIAL</u>							
COLOR SHIELD PRI		_			R GALLON	\$	600.00
COLOR SHIELD EXT	ERIOR FINISH	4 GA	ALLONS	@ 300 PE	R GALLON	\$	1,200.00
					MATERIAL TOTAL	\$	1,800.00
					SUBTOTAL	\$	12,850.00
1					10%	\$	1,285.00
					TOTALS	\$	14,135.00
			-	TOTAL AM	OUNT DUE	\$	14,135.00
15	657 S 70TH COURT			ORLAND I	PARK, ILLINOIS 6046	2	



DATE:	5/31/2013					
CONTRACTOR:	VILLAGE OF ORLAND PARK		FAX:			
	14600 W RIVENIA					
ATTENTION	ORLAND PARK, ILLINOIS 60462 FRANK STEC		PHONE:	700 402 6420		
ATTENTION: FROM:	DANIEL HENDRICK		PHONE:	708-403-6139		
PROJECT	CENTENNIAL POOL SLIDES			CHANGE ORDER R	EQUEST	# 5
LOCATION:	15600 W WEST AVENUE					
	ORLAND PARK, ILLINOIS 60462					
ARCHITECT:	DATES V	WORKED		5/20 - 5/24		
SUBJECT:	CHANGE ORDER REQUEST # 5	ZERO DE	EPTH POO	L STAIR WOOD PICK	ETS	
DESCRIPTION:	PER PARK AND RECS REQUEST	AND DIRE	ECTION MA	DISON COATINGS		
	HAS SPENT THE FOLLOWING AD	DITIONAL	TIME AND	MATERIALS		
	PREP AND PAINTING THE ZERO I	DEPTH SL	LIDES POO	L STAIR WOOD PICK	ETS	
	ORIGINAL PROPOSAL WAS BASE	D OFF 1	COAT CED	AR STAIN CHANGE (	ORDER	
	CHANGE ORDER FOR ADDITIONA	AL COATS	OF PITT -	TECH WHITE		
<u>LABOR</u>						
2 MEN	2 MEN 8HRS	5/20/13	16	HRS @ 81.25	\$	1,300.00
2 MEN	2 MEN 8HRS	5/21//13	16	HRS @ 81.25	\$	1,300.00
2 MEN	2 MEN 8HRS	5/22/13	16	HRS @ 81.25	\$	1,300.00
				LABOR TOTAL	\$	3,900.00
MATERIAL	40		0 0 0 7 0 0	255 041 0N		440.40
PITT-TECH EXTERIOR	12	GALLON	S @ 37.20 I	PER GALLON	\$	446.40
			<u>-</u>	MATERIAL TOTAL	\$	446.40
				SUBTOTAL	\$	4,346.00
				10%	\$	434.60
				TOTALS	\$	4,781.00
			TOTAL AN	IOUNT DUE	\$	4,781.00
1565	7 S 70TH COURT		ORLAND	PARK, ILLINOIS 6046	2	



DATE:	5/31/2013					
CONTRACTOR:	VILLAGE OF ORLAND PARK		FAX:			
	14600 W RIVENIA					
	ORLAND PARK, ILLINOIS 60462					
ATTENTION:	FRANK STEC		PHONE:	708-403-6139		
FROM: PROJECT	DANIEL HENDRICK  CENTENNIAL POOL SLIDES			CHANGE ORDER R	EOHEST	· # 1
LOCATION:	15600 W WEST AVENUE			CHANGE ORDER R	LQULSI	# <del>4</del>
200/11011.	ORLAND PARK, ILLINOIS 60462					
ARCHITECT:	·	WORKED		5/20 - 5/24		
SUBJECT:	CHANGE ORDER REQUEST # 4	ZERO DE	EPTH POO	L STRIPPING OF SLII	DES	
DESCRIPTION:	PER PARK AND RECS REQUEST	AND DIRE	ECTION MA	ADISON COATINGS		
	HAS SPENT THE FOLLOWING A	DDITIONAL	TIME AND	MATERIALS		
	PREP AND STRIPE PAINTING OF	THE ZER	O DEPTH S	SLIDES		
	ORIGINAL PROPOSAL WAS BAS	ED OFF S	AME SCOP	E AS LAST YEAR		
LABOR						
2 MEN	2 MEN 8HRS	5/20/13	16	HRS @ 81.25	\$	1,300.00
2 MEN	2 MEN 8HRS	5/24/13	16	HRS @ 81.25	\$	1,300.00
				LABOR TOTAL	\$	2,600.00
MATERIAL STATE	DIOD FINICIA	2 2 4 1 2 1	C @ 200 D	ED CALLON	•	COO 00
COLOR SHIELD EXTE	RIOR FINISH	2 GALLON	5 @ 300 P	ER GALLON	\$	600.00
				MATERIAL TOTAL	\$	600.00
				SUBTOTAL	\$	3,200.00
				10%	\$	320.00
				TOTALS	\$	3,520.00
			TOTAL AN	OUNT DUE	\$	3,520.00
156	57 S 70TH COURT		ORLAND	PARK, ILLINOIS 6046	2	